AMT I FH RS 12 £S5 ERBRRERGF —ROHLK

— B 12F6 A58 (AH—) 88510 &%
N
vERERUR R Wk kS

|

Jit

we HEAR WA

R~ EFFERE owg

ﬁ‘ﬁ%%?%i

£ %

E: 7)%‘!%51 112 SRR Fa/ &R > i -
0

(1) AMAR2 LEEREER - BARREH -
(w ERZRAEZHEZNE)

(2) AHAR2ZEFHEFRLTHREL » BFHH
(o & FHRRBHZERFENE)

(3) AMII22FEBHLEFRLEWREL  REHLH -
(ho BB HEZBRFPERNE)

Edh— N2 BEE L FRITIFEFTH - ZABERFHEY -
B (= 2 wESRENEE) (B SESRIEAE— BRE)

4

5% 44, = == B E |
R EBRDE B R 20 20 25 25 26 27

% 4:33 / 6 6 5 5 5 4

B | EX . 1 1 1 1 1 1

AL R 353

ME 1 1 ) 2

. ﬁi%ﬁ@ 4 4 4 4 4 4

s A £0) 3 3 3 3

= ’:f"'% B ARFHE0O) 6 6 3 3 3 4

éf) #i#7(3) 3 3 3 3

BATEH(2) 0 0 2 3 2 3

RIS H (3) 3 3 3 3 3 3
ST RAREE H#HA) 20 20 25 25 27 27
S Y R4 BRI 2-4 | 2-4 3-6 3-6 3-6 3-6




(=) 2@ TREs EB-EI T 3

WMERH LT ETHRUXERNAE
+ ~ Rk S48 B Bl A= 69 W B R AT AR B TR SRAR I FENA A B o
+— #HEe (98104 ) -

G EEPEIR FORAE 25 | 25 | 2 | 2 2 2
2 ARUIPE /R ES T < [N [ U [ UUU [
zu\ B RAABER | - | o | e | e | e | e
HAGRAARAE ~ 28
S E ) 0.5 0.5 2 2 4 3
SREBERITHRETH®B) 3 3 4 4 6 5
ﬁﬁ’m’ﬂ 4 B3R5 Hh B 22-24 | 22-24 | 28-31 | 28-31 | 30-33 | 30-33
B 8 -
(A+B) SRE R H 23 23 29 29 32 %
EhH= R I12Z2FEHEMFELARTA -
R (A FRREZEREFTENR)
K R LFEREABRETTHTERAINA -
R (WA FERREZRETERE)
EdhL BER 225 EBARHUFEZTIRA -
g
& T AR I, B | B | AEERE | REARF tiksES B
—FIER HRAE | B | B B ¥ JE BT AP FE #F
—FGER B | B | Bk B EF B #F B JE #F
S F AR I, B3Es| $E | AFF| e | AL @f’%f‘i e | 3
# .
ZHSER B R AR | EET | WAk | Bk Ak B & AR | R
wSERER HARAE | S | B | H4 | B | B FERF | B | R
EFHER BRA | RE | RN | EHF | HKk | #HH R | Ak | R
NEBER BARAE | RS | EEF | R | B | #HH B | B | B
ME =~ EP BIE— o AT
N~ EREFENE &
s &S
(=) ¥HUBRARARGHAFETE  ERP 2490 E5E

EAARIR A AN 6 A 26 B BT A-4E
i'?‘% o



AETREABRT N2 V2L 5 ERB2BREE &

BFR] ¢ 112.6.5

%1 ke

WoEL L @RE

HAEAR
REERE T A% ¥ _EmE
Bk Bk 1 6% IR A
FERAE FE Ak )5 94 (350
P H kg S Z e 2
T HAR A MR T B ﬂiw\
ok HRr R N E EVESY
fTEEk PHak BRE % Jﬁ% Vo }41 |
o K W4T S 6 A o> T 5,
AR kK R YN
— @R & i b K4 ?’s?\fi 1/27?. )
—EBRE 4 b IEf 3 59t
BTy Y47 wER | 9% 2 5D
EEX TS § e B ﬁi‘, 7=,
5K 5 67 Wi R 4 VB o
xR 447 fiet A7
3B A 67 % A =z, £ H
B g & Hh Ak i 4 Tg&‘
AR A H AT T L, & 7{///5(/
B AR AR Bk R i #| 1t /'ZL /. /% ’
AR K He b7 BRA R s Z-\ &
B AR R b7 ¥ % % il ?
A ER B 07 Y AE1E
AR H b B @ 7,




